Boys and Girls
At the beginning of the school year, the ratio of boys to girls in the school district was 22:50.  The total number of students at that time was 2,232.  During the school year, 20 boys and 205 girls move into the district, and no students move out.  After these students move in, the new ratio of boys to girls was 2:5.  Find the original number of boys in the district.

Al principio del año escolar, la proporción entre niños y niñas en el distrito escolar era de 22:50. El número total de estudiantes en ese entonces era 2,232. Durante el año escolar, 20 niños y 205 niñas ingresaron al distrito, y ningún estudiante se mudó del distrito.

Después de ingresar esos estudiantes, la proporción nueva entre niños y niñas era de 2:5. Determine el número original de niños en el distrito.

В начале учебного года соотношение мальчиков и девочек в школьном округе составляло 22:50.  Всего же в округе насчитывалось 2,232 ученика.  На протяжении учебного года в округ переехали ещё 20 мальчиков и 205 девочек, при этом из округа никто не выехал.   В результате, соотношение в округе  мальчиков и девочек составило 2:5.   Определите, сколько мальчиков было в округе в самом начале.

